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Prove the identity
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Show that
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(i) Use the quotient rule to show that
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Show that
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35in26 — 2sin6 = 2sin6(3 cos 6 — 1).
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Prove the identity

2 cosec 2x cotx = cosec? x,
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(a) Find the value of Notice Moy this q«)@\' on S0 deareﬁ\

(i) arccos(cos(150°)) B
(i) aresin(sin(210°)) b‘) Q) ort k b o)) = 500
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(b) Explain why the answer to part (a) (ii) is not 210°. Q‘]

o aresin(gin (@10°)) = -30°
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(a) Find the value of

(i) arccos(cos(150°))
(i) arcsin(sin(210°)) orees kﬁs (1s0°)) = 156°
aresin(gin(2109)) = -30°| 121
(b) Explain why the answer to part (a) (i) isho£ 210°.
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Use the identity
(Rsin(8 +@) = Rcosasin® +Rsinacosd

to show that

Casin(o +‘ = 2V2(sin + cos ).
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Show that
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() Use the identity
cos(A+ B) = cos Acos B —sin Asin B
to show that

cos 24 = cos? A — sin’ A,

(b) Show by counter-example that

0526 % cosf + cos 6.
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(a) Use the identity L\D) ek ©=7
€0s(4+ B) = cos Acos B —sinAsin B :
to show that cos 20 = cB Lﬁr/%) - 1/2
cos 24 = cos? A —sin? A.
o asGree O = an(5)+ o (U6)
(b) Show by counter-example that = 2c8 \%)
€026 2 cos + cos . = (&
2(8)
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lo) 1§ Oicinrodare, SinB=C
= \-56*
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(b) Use the resultin part (a) o find an approximation to 3sin(0.2) ~ 2 cos(0.2).
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(a) Given that 8 is small and measured in radians, use an appropriate approximation to
show that

(b) Use the resultin part (a) to find an approximation to 3sin(0.2) — 2 cos(0.2).
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